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−

− 
 = − − 
 − 

1A  
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2.28 

6 4 1 1 0 0

1 9 3 0 1 0

4 2 5 0 0 1

− 
 − 
  

 

 

1 0.66667 0.16667 0.16667 0 0

0 8.3333 3.1667 0.16667 1 0

0 4.6667 4.3333 0.66667 0 1

− 
 
 
 − 

 

 

1 0 0.42 0.18 0.08 0

0 1 0.38 0.02 0.12 0

0 0 2.56 0.76 0.56 1

 
 
 
 − − 

 

 

1 0 0 0.30469 0.17188 0.16406

0 1 0 0.13281 0.20313 0.14844

0 0 1 0.29688 0.21875 0.39063

− 
 − 
 − − 

 

 Thus, 

 

0.30469 0.17188 0.16406

0.13281 0.20313 0.14844

0.29688 0.21875 0.39063

−

− 
 = − 
 − − 

1A  
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2.29 

7 6 3 2 1 0 0 0

6 4 1 5 0 1 0 0

3 1 8 9 0 0 1 0

2 5 9 2 0 0 0 1

− − 
 − − 
 −
 −  

 

 

1 0.85714 0.42857 0.28571 0.14286 0 0 0

0 1.1429 1.5714 3.2857 0.85714 1 0 0

0 1.5714 6.7143 9.8571 0.42857 0 1 0

0 3.2857 9.8571 1.4286 0.28571 0 0 1

− − 
 − 
 −
 
  

 

 

1 0 0.75 2.75 0.5 0.75 0 0

0 1 1.375 2.875 0.75 0.875 0 0

0 0 8.875 14.375 0.75 1.375 1 0

0 0 14.375 10.875 2.75 2.875 0 1

− − − − 
 − − − − 
 
 
  

 

 

1 0 0 1.5352 0.43662 0.6338 0.084507 0

0 1 0 0.64789 0.6338 0.66197 0.15493 0

0 0 1 1.6197 0.084507 0.15493 0.11268 0

0 0 0 12.408 1.5352 0.64789 1.6197 1

− − − 
 − − − 
 
 − −  

 

 

1 0 0 0 0.62656 0.71396 0.2849 0.12372

0 1 0 0 0.71396 0.6958 0.2395 0.052213

0 0 1 0 0.2849 0.2395 0.098751 0.13053

0 0 0 1 0.12372 0.052213 0.13053 0.08059

− − − 
 − − − 
 −
 − − −  

 

 Thus, 

 [ ] 1

0.62656 0.71396 0.2849 0.12372

0.71396 0.6958 0.2395 0.052213

0.2849 0.2395 0.098751 0.13053

0.12372 0.052213 0.13053 0.08059

−

− − − 
 − − − =
 −
 − − −  

A  
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2.30 

5 7 3 11 1 0 0 0

10 6 13 2 0 1 0 0

1 12 8 4 0 0 1 0

9 7 5 6 0 0 0 1

− − 
 − − 
 − −
 − −  

 

 

1 1.4 0.6 2.2 0.2 0 0 0

0 8 7 20 2 1 0 0

0 10.6 7.4 1.8 0.2 0 1 0

0 5.6 10.4 25.8 1.8 0 0 1

− − 
 − − − 
 −
 − −  

 

 

1 0 1.825 1.3 0.15 0.175 0 0

0 1 0.875 2.5 0.25 0.125 0 0

0 0 16.675 24.7 2.85 1.325 1 0

0 0 15.3 11.8 0.4 0.7 0 1

− − − 
 − − − 
 −
 −  

 

 

1 0 0 1.4033 0.16192 0.029985 0.10945 0

0 1 0 1.2039 0.10045 0.055472 0.052474 0

0 0 1 1.4813 0.17091 0.07946 0.05997 0

0 0 0 34.463 3.015 0.51574 0.91754 1

 
 − − 
 −
 −  

 

 

1 0 0 0 0.039153 0.050985 0.072084 0.040719

0 1 0 0 0.0048723 0.037456 0.084526 0.034933

0 0 1 0 0.041328 0.057293 0.020533 0.042981

0 0 0 1 0.087484 0.014965 0.026624 0.029016

− 
 
 
 − −
 −  

 

 Thus, 

 [ ] 1

0.039153 0.050985 0.072084 0.040719

0.0048723 0.037456 0.084526 0.034933

0.041328 0.057293 0.020533 0.042981

0.087484 0.014965 0.026624 0.029016

−

− 
 
 =
 − −
 − 

A  


